KEY
ECON 311 
Quiz #1-B


1/19/2004 and 1/21/2004


	Answers
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	TOTAL

	Here
please
	F
	700
	75%
	10
	-10
	120
	-3
	20
	20
	-5
	


1) Only FINAL goods and services are included in GDP. Hence the statement is false.

2) Real GDP in 2003 using 2002 as a base year is 
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 where i indexes good types.

3) Using 2002 as base year and given the answer above, the growth rate of real GDP between 2002 and 2003 is Real GDP in 2003 using 2002 as a base year is 
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or 75%. Note that in the base year, real and (nominal) GDP are equal.

4) You can use the definition of savings (S) to find T: 
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5) Public saving is 
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, the government is running a budget deficit. 

6) To calculate the short run equilibrium value of Y in the economy, use the equilibrium condition 
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 is aggregate demand and plug in the bevorial relationship for 
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7) The value of the multiplier on T is 
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8) National saving in equilibrium is 
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9) Because the absolute value of the multiplier on G, 
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, is larger than the absolute value of the multiplier on T, 
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, increasing G will change equilibrium Y by a larger amount than decreasing T. To achieve a balaced budget with an increase in G, the government has to increase G by 
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10) Since Y=Z+Inventory Investment always holds, Inventory Investment is equal to Y-Z. 
When 
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. Hence, Inventory investment is -5. 
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